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PSSA Math: Map Shown Below (Grade 4); Training Set 1

51!

T1-1
MATHEMATICS SEGTION 2

A map Is shown below.
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There are right triangles shown on the map.

A. List three roads that form a right triangle.
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There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run parallel to Troy Ln.

N - K
M\ Ala. ® CangK \intae Bea50n Lo,



csloan
Text Box


PSSA Math: Map Shown Below (Grade 4); Training Set 1
T1-1

] MATHEMATICS SECTION 2

§1. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s ¢laim is not correct?

wilon Ave,

D. Explain why the map does not have a line of symmetry even thoughi it is in the

shape of a rectangle.
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MATHEMATICS SECTION 2
A map Is shown below.
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There are right triangles shown on the map,

A. Listthree roads that fomr{ right triangle.
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There are roads that run paral|el to Troy Ln shown on the map.

B List all the roads that run parallel to Troy Ln,
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PSSA Math: Map Shown Below (Grade 4); Training Set 1
T1-2

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St, is perpendicular to every road it intersects on the map.

C. Which road proves that Jack's claim is not correct?

\"\n co\n .PNe

D. Explain why the map does not have a line of symmetry even though it is in the
shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1
T1-3

MATHEMATICS SECTION 2

| 51. A map is shown below.
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There are right triangles shown on the map.

A. Listthree roads that form a right trian
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There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run pa{‘allel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

- MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?
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WELIN @I Ave, Thay vould pe i farcect in-

D. Explain why the map does not have a line of synﬁmetry even though it is in the
shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-4
. MATHEMATIGS SEGTION 2

§1. A map Is shown below.
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There are right triangles shown on the map.
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There are roads that run parallel to Troy Ln. shown.on the map.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-4

- MATHEMATICS - SECTION 2

51. Continued, Please refer to the previous page for task explanation,,

—

Jack claims that Farm St is perpendlcular to every road itintersects on the map.

C. Which road rroves that Jack’s claim is not correct?

e O Avg,

D Exp!am why the map does not have a Ime of symmetry even though it is in the
shape of a rectangie.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-5
3 MATHEMATICS SECTION 2

51. A map is shown below.
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There are right triangles shown on the map. l

A. List three roads that form a right triangle. Liacola AV@‘
ond Faaty;,

Lﬁf)(lglg’\ /"\\/i&\nvo\nilj Fa\cg éf LLn,
L?ll (/Q[h A\/c,. \Qng Fafm 6 75

There are roads that run parallel to Troy Ln. shown on the map.

B. List all the roads that run parallel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

MATHEMATICS SECTION 2

§1. Continued. Please refer to the previous page for task explanation,

T1-5

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack's claim is not correct?

Fegnlctzn  Ln.

D. Explain why the map does not have a line of symmetry even thoughitis in the
shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

B MATHEMATICS SECTION 2
61, Amap is shown helow.
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T1-6

There are nght triangles shown on the map.,,

;A. List three roads that form a right triangle.

Iy pmam = e bes il o e

There are roads that run parat!el to Troy Ln. shown on the map.

B. List all the roads that run parallel to Troy Ln,,
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PSSA Math: Map Shown Below (Grade 4); Training Set 1
T1-6

= MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the.map. -

C. Which road proves that Jack's ¢laim is not correcg -
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D. Explain why the map does not have a line of symmetry even though itis in t
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PSSA Math: Map Shown Below (Grade 4); Training Set 1
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T1-7

MATHEMATICS ~ SECTION 2
A map is shown below. |
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There are right triangles shiown on the map,

A. Listthree roads that form a right triangle.

LinColn AVes, Fahh St ona
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There are roads that run parallel to Troy Ln, shown on the map.,

B. Listall the roads that run paralls! to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

MATHEMATICS SECTION2

51.  Continued, Please refer to the previous page for task explanation.

T1-7

Jack claims that Farm St; is perpendicular to every road it intersects on the map.

. [C. Which road proves that JacK's claim is not correct?

|_incolr AV

Ib. Explain why the map does not have a line of symmetry even though it is in the
shape of a rectangle,

Becose The lings on one
Side dont match 4he othels




PSSA Math: Map Shown Below (Grade 4); Training Set 1

51.

MATHEMATICS SECTION 2
A map is shown below.
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There are right triangles shown on the map.

Carr =12

A. Listthree roads thetforma @L‘trangg-\ " A \/gy a ”d &ﬁ%}n&"b

There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run parallel to Troy Lng *
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

b MATHEMATICS SECTION 2

51. Confinued. Please refer to the previous page fdr task explanation.

T1-8

C. Which road proves that Jack'’s claim is not correct?

‘(rog(\’”‘

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

shape of a rectangle.
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D. Explain why the map does not have a line of symmetry even though itis in the
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-9
k- MATHEMATICS SECTION 2

51. A map is shown below.
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There are right triangles shown on the map.

A. List three roads that form a right triangle.

;Wm X, Lincown Ave,
0\'\\/@_{ St.

There are roads that run parallel to Troy Ln. shown on the map,
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-9
- MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. Is perpendicular to every road it intersects on the map.

C. Which road proves that Jack's claim is not corect?

L_{;r\CJGY\ Ve, «

D. Explain why the map does not have a line of symmeltry even though it is in the

shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

- MATHEMATICS SECTION 2

5. Amapis shoWn below.
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There are right triangles shown on the map.

A. -List three roads that form a right triangle,

It M«l F(‘au\k\.‘ Ln,
L&ﬁﬁﬁ*’c and Ttvyl—mn
. FmrmS'ﬁ a,nd MDJ’I"\ Ln,
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"_There are roads that run parallef to Troy Ln. shown on the map.
B, List all the roads that run parallel to Troy Ln,
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PSSA Math: Map Shown Below (Grade 4); Training Set 1

T1-10

[ MATHEMATICS SECTION 2

51. Continued. Please refer o the previous page for task explanation.,

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack's claim is not correct?

L l'ncorn Av—e,.
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D. Explain why the map does not have a line of symmetry even though itis in lthe
shape of a rectangle. :
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PSSA Math: Map Shown Below (Grade 4), Training Set One

Subject: Math ltem: Map Shown Below Grade: 4

Name

Number Score Notes

T1-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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